



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{3} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{2} + \frac{2}{5}\right)^2 =$$

$$\left(\frac{3}{4} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{3}{5} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{3} - 5^2 - \frac{1}{4} =$$

$$\left(2 + \frac{1}{5}\right)^2 + \frac{1}{3} - 3^2 \times \frac{1}{5} =$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{5} + \frac{1}{5}\right)^2 =$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{3}{2} \times 3^2 + \frac{3}{5} =$$

$$\left(\frac{1}{6} + \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{2}{5}\right) =$$

$$\left(4 - \frac{2}{3}\right)^2 + \frac{2}{5} \times \frac{1}{5} - 3^2 =$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 - \frac{1}{2}\left(\frac{2}{3} + \frac{1}{5}\right) =$$

$$\left(2 - \frac{1}{3}\right)^2 - \frac{3}{5} + 5^2 + \frac{1}{2} =$$



姓名: _____

日期: _____ 分數: _____

$$\left(\frac{2}{3} + \left(\frac{1}{6}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{2} + \frac{2}{5}\right)^2 = \left(-\frac{151}{225}\right)$$

$$\left(\frac{3}{4} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{3}{5} - \left(\frac{2}{5}\right)^2\right) = \frac{3289}{3600}$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{1}{3} - 5^2 - \frac{1}{4} = \left(-\frac{245}{36}\right) = \left(-6\frac{29}{36}\right)$$

$$\left(2 + \frac{1}{5}\right)^2 + \frac{1}{3} - 3^2 \times \frac{1}{5} = \frac{253}{75} = 3\frac{28}{75}$$

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{5} + \frac{1}{5}\right)^2 = \frac{217}{1200}$$

$$\left(3 - \frac{1}{2}\right)^2 - \frac{3}{2} \times 3^2 + \frac{3}{5} = \left(-\frac{133}{20}\right) = \left(-6\frac{13}{20}\right)$$

$$\left(\frac{1}{6} + \frac{1}{3}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{2}{5}\right) = \frac{3}{10}$$

$$\left(4 - \frac{2}{3}\right)^2 + \frac{2}{5} \times \frac{1}{5} - 3^2 = \frac{493}{225} = 2\frac{43}{225}$$

$$\left(\frac{1}{2} + \frac{3}{5}\right)^2 - \frac{1}{2}\left(\frac{2}{3} + \frac{1}{5}\right) = \frac{233}{300}$$

$$\left(2 - \frac{1}{3}\right)^2 - \frac{3}{5} + 5^2 + \frac{1}{2} = \frac{2491}{90} = 27\frac{61}{90}$$